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In AABC, D is the mid—point of BC and G is the
centroied. If GD = 5 cm, then the length of AD is

AABC #, D,BC &1 5ea fag @ik G s €, 9 AD i
TS B

(@)10cm  (b) 12 cm (c)15cm (d) 20 cm

The difference between the interior angle and the
exterior angle of a regular polygons is 90° . Find the
number of side.

Toh THEES o Ak HIo1 iR S16a v & e i e
90° ¥ sTat = T A B

(a) 6 (b) 5 (c) 8 (d) 10

The measure of three angles of a quadrilateral are in
the rato 1:2: 3. If the sum of these three measures is
equal to the measure of the fourth angle, find the
smallest angle.
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(a) 30° (b) 40° (c) 60° (d) 50°

A circle with centre O has a tangent PQ at point Q.
The line segment jointed from P to a point A on the
circle meets the circles at one more point B. BA < PB
and AB is of length 5 cms. If PQ is of length 6 cms,
then PA equal to :

O ¥ ool T o % Q foig W ueh wuei Y PQ I P A g
T fig A I Siie JTelt 381 d1elt 99 W T 317 foig B |
faet €1 PA<PB 3R AB ¥t @i 5 ¥t §| a9 PA #
TS 0 H |

(a) 9 cm (b) 6 cm (d) 3 cm

2 equal tangents PA and PB are drawn from an
external point P on a circle with centre O. What is the
length of each tangent, if P is 2 cm from the centre
and the angle between the tangents is 120° ?
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(a) 24 cm (b) 6 cm

(c) 8 cm (d) Cannot be determined

In a triangle ABC, if ZA = 55° and ZC = 80°, then

which one is true ?

T 1St ABC ©, 3f€ ZA = 55° 3R £C = 80°, Mg &

w1 T €

(a) AB>AC > BC

(¢) CA>AB > BC

(¢) 4 em

(b) BC > AB > AC
(d) AB>BC > AC

7.

10.

11.

12.

The distance between centres of two circles of radies 4
cm and 9 cm is 13 em. If the points of contact of a
direct common tangent of the circle are P and Q, then
length of common tangent PQ is :

4 9. ik 9 Teft. Frsmnedi ot 3 it i o o= v gl
13 . ¥1 3t P iR @ Tl W wh Wt 3l weian &
ooyt faig & @ swafs waeiar PQ =1 awars feraht gt
(a)10ecm  (b) 12 cm (c)15cm (d) 14 cm

How many straight lines can you draw to divide a
square into two congruent parts ?

T o F Q HAEw R # gien % faw o e Yand
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(a)1 (b) 2 ()4 (d) More then4
In a APQR, /@ = 55° and /R = 35°. Find the ratio of
angles subtended by side QR on circumcentre,
incentre and orthocentre of the triangle.

TH APQRH, /Q = 55° W /R = 35° €1 91 QR g1 freqst
% AR, 3T: % T T hex IX ST T vl <hT STIAT
A H

(a)3:2:1 ()3:2:4 (¢)3:2:4 (d)4:3:2

In AABC and APQR, /B= /Q,7C = Z/R. M is the
midpoint on QR, If AB:PQ = 7 : 4 then

area (AABC) s -

area (APMR)

AABC 3R APQR ¥, /B= /Q,/C = /R € QR T M
mﬁg%lqﬁABAPQ=7;4,€rﬁmﬁfF@awm|
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The ratio of inradius and circumradius of an

equilateral triangle is :

foreht TS e it ofa: firean 3tk aR freen 1 egum
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(a)1:2 (b)2:1 ©LJV2 (@21

AB and AC are two chords of a circle. The tangent at B

and C meet at P. If /BAC = 54°, then the measure of

ZBPC is

AB 3R AC T o9 %1 & S §1 B 31K C W w99 W@ P

W et €198 ZBAC = 54°, /1 ZBPC =1 519 <1 81|

(a) 54° (b) 108° (c) 72° (d) 36°
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2 BANK TEST 6
— ANSWER KEY
1. (c) 2. (c) 3. (@) 4. (c) 5. (b) 6. (d) 7. (b) 8. () 9. (d) 10. (d)
11. (a) 12. ¢()
| HINT & SOLUTIONS |
1. A Median i 5. [
| [N,
( i
A D i
AG:GD=2 : 1 i
|- I i
10 5 i
Total AD = 10 + 5 =15 i 2 units = 12 cm
2. Let side of Polygon = x i 1 unit = 6 cm
interior — exterior = 90° i hence the length of tangent
(n-2)x180 360 _ 4, i (AP #@: T3¢ AP #1 @) = 6
n n i cm
3. D C '
i 6.
3N :
. . i B C
N 7] | As /C>ZA> /B,
A B | then, AB> BC > AC.
LA+ LB+ 2ZC = £D ! Opposite sides of corresponding angles
x+2+3x = 2D i 7. Length of common tangent
£D = 6x i P
Now, i
ZA+ 2B+ ZC+ £D =360 i
x + 2+ 3x +6x =360 i )
12x = 360° : v
x=380°= LA : PQ = 2VRr
¢ h a i =2/9%x4 =12cm
4. i 3. a /- angle bisector
.0 4 i R &t
! a
B W;\ X P l both part are congrument
PQ® = PAxPB 9 Q
(6)% = x x(x + 5) i )
x2+5x-36=0 i
x2+9x-4x-36=0 i
(x-4x+9=0 i
x=4cm i ] (N
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BANK TEST 6 5

circumcentre at the mid point of QR hence angle made AE :ED=2:1
by QR = 2x90°=180° .. DE is inradius & AE is cirumradius
Angle made by QR at in centre Required Ratio = inradius _1

1

—90°+-x /P =135° Circumradius 2
2

12. According to the question.
A

£

AN

ortho centre is at point ‘P’
Hence angle amde by QR = 90
ThenratioC:1:0

=180:135:90
=4:3:2 B [JC
10. area (AABC)
area (A PMR)
Mm% 49
1 2 8
3 * @ p
A ZBOC = 2£A

11.
ZBOC = 2x54°=108°

ZBPC =180°-2ZBOC
ZBPC =180°-108°
=172°
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